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mm an % fili #& (F3) LS AR £ fifi #& (F9)
1 |BEsE (24%) 2,500 31 LV 2= (B) 1,000
2 |BERE(27H) 2,500 32 |LVF(A) 500
3 |BERE(27H!) 2,500 33 |LV9 (B) 1,500
4 |BERE(27H!) 2,500 34 |LVF(C) 800
5 |BEREXT7{T(26%!) 3,000 35 [LVF (D) 800
6 |BEREXT7{T(26%!) 3,000 36 |HT—HRY IR () 500
7 |BEREXT7F(26%!) 3,000 37 |A5—RYIR(KEH) 1,000
8 |BEREXT7{T(26%) 3,000 38 | AF—/LHH 1,500
9 |BEREXT(27RY) 4,000 39 [T—TIL(A) 800
10 |BEREX 71 (27RY) 4,000 40 |7—7I)L(B) 800
11 |BEREX7 (278 4,000
12 |BEREX 7 (27RY) 4,000
13 |BEREX 7 (27RY) 4,000
14 |$Yt-t-»BEELT7H(208) | 3,000
15 |$rYt-t-»BEELT7(208) | 3,000
16 |#rYt-f-»BEELT7H(208) | 3,000
17 |Ytt-»BEELT7H(208) | 3,000
18 |BEREX7 {1 (26%!) 3,000
19 |BEREX7 {1 (247) 2,000
20 |BEEREXT7{F(24%) 2,000
21 |B¥RE (24%) 1,500
22 |BE¥RE (24%) 1,500
23 |BEREXT7{F(228) 1,500
24 |BE¥RE (20%Y) 1,500
25 |B¥RE (18%Y) 1,500
26 |BERE (18%Y) 1,500
27 |BEREMHBIMT (145Y) 1,000
28 |B¥RE (26%) 2,500
29 |BEREXTF(278) 3,500
30 (L g2 (A) 1,000




